PART I

For each of the words in Capital letters, choose from among the answers, the word that is closest in meaning:

(1) INCLEMENT

(A) Unfavorable   (B)abandoned   (C)kindly   (D)selfish   (E)active

(2) INCOMPATIBLE

(A) capable (B)reasonable   (C)faulty   (D)indifferent   (E)alienated
(3) INCONSEQUENTIAL

(A) disorderly   (B) insignificant  (C)subsequent   (D)insufficient   (E)preceding

(4) INCONTINENT

(A) insular   (B)complaisant   (C)grass   (D)wanton   (E)faults

(5) INCORRIGIBLE

(A) narrow   (B)straight   (C)inconceivable   (D)unreliable   (E)unreformable
(6) INCRIMINATE

(A) exacerbate   (B)involve   (C)intimidate   (D)lacerate   (E)prevaricate

(7) INCULCATE

(A) exculpate   (B)educate   (C)exonerate   (D)prepare   (E)embarrass

(8) INDIGENT

(A) lazy   (B)pusillanimous   (C)penurious   (D)affluent   (E)contrary

(9) INDIGNITY

(A) pomposity   (B)bombast   (C)obeisance   (D)insult   (E)message

(10) INDOLENCE

(A) sloth   (B)poverty   (C)latitude   (D) aptitude  (E)anger

For each of the words in Capital letters, choose from among the answers, the closest word that has the opposite meaning:

(11) PRIM

(A) rare   (B)careful
(C)unnecessary   (D)improper   (E)decisive

(12) REPUGNANCE

(A) attraction
(B)lethargy (C)blame   (D)virtue   (E)awe

(13) NETTLE

(A) disentangle (B)mollify (C)magnify   (D)muffle   (E)recompense

(14) REPLETE

(A) unwrinkled  (B)devoid (C)vulgar   (D)matchless   (E)unsympathetic

(15) UNASSUAGED

(A) presumed
(B)deceptive (C)singular   (D)faulty   (E)soothed
(16) PALTRY

(A) munificent
(B)improvident (C)random   (D)cautious   (E)obsolete

(17) CONCLUSIVE

(A) difficult to express (B)bringing bad luck
(C)easy to solve  (D)lacking merit   (E)open to question
(18) RESOURCEFULNESS

(A) wealth
(B)gratitude
(C)melancholy   (D)incompetence   (E)frustration

(19) DISSUADE

(A) extol (B)exhort (C)intensify   (D)complicate   (E)precede

(20) SPLENETIC

(A) lackluster
(B)heartless
(C)diffident   (D)constant   (E)cordial
Read the following text.  The passage contains some blank spaces.  Choose the sentence from the list A – I, that best fits in each of the blank spaces.  The numbers in brackets  refer to Question numbers.

In the art of Middle Ages, we never encounter the personality of the artist as an individual; rather it is diffused through the artistic genius of centuries embodied in the 

rules of religious art. __B_____. The circular halo placed vertically behind the head signifies sainthood, while the halo impressed with a cross signifies divinity. By bare feet, we recognize God, the angels, Jesus Christ and the apostles, but for an artist to have depicted the Virgin Mary with bare feet would have been tantamount to heresy. ___F____. A tree, which is to say a single stalk with two or three stylized leaves, informs us that the scene is laid on earth. _H_____; and should an angel be watching from the battlements, that city is thereby identified as Jerusalem. Saint Peter is always depicted with curly hair, a short beard and a tonsure, __E_____.

Through this system, even the most mediocre talent was elevated by the genius of the centuries.__I____. When they are not outstanding, they are scarcely able to avoid insignificance and banality in their religious works; and even when they are great __C___. 

A. An artist who faithfully followed the rules of religious obligation and was not recognized during his lifetime 

B. Art of the Middle Ages is a sacred script, the symbols and meaning of which were settled 

C. They are no more than the equal of the old masters who passively followed the sacred rules.

D.  Religious art has greater value than the secular art of the Renaissance

E. While Saint Paul always has a bald head and along beard.

F. Several concentric, wavy lines represent the sky, while parallel lines represent water or the sea.

G. If there were no unemployment compensation, artists could be induced to accept such unstable works

H. A tower with a window indicates a village.

I. The artists of the early Renaissance broke with tradition at their own peril.

As the works of dozen of women writers have been rescued from what E.P. Thompson calls “the enormous condescension of posterity,” and considered in relation to each other the lost continent of the female tradition has risen like Atlantis from the sea of English literature. It is now becoming clear that, contrary to Mill’s theory, women have had a literature of their own all along. The women novelist, according to Vineta Colby, was “ really neither single nor anomalous,” but she was also more than a “register and spokesman for her age.  She was part of a tradition that had its origins before her age, and had carried on through our own.

Many literary historians have begun to reinterpret and revise the study of women writes. Ellen Moers sees women’s literature as an international movement, “apart from, but hardly subordinate to the mainstream: an undercurrent, rapid and powerful. This ‘movement’ began in the late eighteenth century, was multinational, and produced some of the greatest literary works of two centuries, as well as most of the lucrative potboilers. “Patricia Meyer Specks, in The Female Imagination, finds that “for readily discernible historical reasons, women have characteristically concerned themselves with matters more or less peripheral to male concerns, or at least slightly skewed from them. The differences between traditional female preoccupations and roles and the male ones make a difference in female writing. “Many other critics are beginning to agree that when we look at women writers collectively we can see an imaginative continuum, the recurrence of certain patterns, themes, problems, and images from generation to generation.

This book is an effort to describe the female literary tradition in the English novel from the generation of the Bronte’s to the present day, and to show how the development of this tradition is similar to the development of any literary subculture. Women have generally been regarded as “ Sociological chameleons,” taking on the class, lifestyle, and culture of their male relatives. It can, however be argued that women themselves have constituted a subculture within the frame work of larger society, and have been unified by values, conventions, experiences, and behaviors impinging on each individual. It is important to see the female literary tradition in these broad terms in relation to the wider evolution of women’s self-awareness and to the ways any minority group finds its direction of self-expression relative to a dominant society, because we cannot show a pattern of deliberate progress and accumulation.

 It is true, as Ellen Moers writes, “ women studies with a special closeness the works written by their own sex” ; in terms of influences, borrowings, and affinities, the tradition is strongly marked. But it is also full of holes and hiatuses, because of what Germaine Greer calls the “phenomenon of the transience of female literary fame”; “almost uninterruptedly since the Interregnum, a small group of women have enjoyed dazzling literary prestige during their own lifetimes,  only to vanish without trace from the records of posterity.” Thus each generation of women written has found itself, in a sense, without a history, forced to rediscover the past a new, forgiving again and again the consciousness of their sex. Given this perpetual disruption, and also the self-hatred that has alienated women writers from a sense of collective identity, it does not seem possible to speak of a movement.

(27)
The author of this passage implies that a significant element furthering the woman writer’s awareness of a female literary tradition is her

(A) vulnerability to male deprecation

(B) assimilation of the values of her subculture

(C) rejection of monetary gain as an acceptable goal

(D) ability to adopt the culture of the dominant society

(E) sense that fame and prestige are evanescent.

(28)
In the second paragraph of the passage the author’s attitude towards the literary critics cited can best be described as one of:

(A) Irony

(B) Ambivalence

(C) Disparagement

(D) Receptiveness

(E) Awe

(29)
The passage supplies information for answering which of the following questions?

(A) Does the author believe the female literary tradition to be richer in depth than its masculine counterpart?

(B) Are women psychological as well as sociological chameleons?

(C) Does Moers share Greer’s concern over the ephemeral nature of female literary renown?

(D) What patterns, themes, images, and problems recur sufficiently in the work of women writers to belong to the female imaginative continuum?

(E) Did Mills acknowledge the existence of a separate female literary tradition?

(30)
The passage suggests that is might be possible to speak of an actual female literary movement were it not for 

(A) masculine suppression of feminist criticism

(B) female lack of artistic autonomy

(C) the ephemeral nature of female literary renowned

(D) the absence of proper contemporary role models

(E) Female rejection of disruptive male influences

(31)
In the first paragraph the other makes use of all of the following techniques except: 

(A) extended metaphor 

(B) enumeration and classification 

(C) classical allusion

(D) direct quotation

(E) comparison and contrast

(32)
Which of the following words could best be substituted for “forging” without substantially changing the authors meaning

(A) Counterfeiting

(B) Creating

(C) Exploring

(D) Diverting

(E) Straining

PART II

Q1. 
Fill in the missing number in the sequence  

9 
11
15
??
29
39

(a) 19    (b) 18  (c) 21   (d) 24  (e) 28

Q2.
In the following series, how many Ys are there such that each Y is followed by an  F  next to it if the  F  is not followed by a  D  next  to it. 

Y    F    Y    D    Q    M    Y    F    D    M    F    Y    F    F    Y    Q    M    Y    

Y    F    Q    Y    F    D    F    Y    A     M   F    Y    F    M

(a)3
(b)2
(c)1
(d)4
(e)5

Q3.
If TUBUJPO is coded as STATION how will GJMUFS be coded?

(a) DISPLAY
(b) CENTRAL (c) FILTER (d) SURMISE
(e) DISPLAY


Q4.
Suppose the first and second letters in the word PROCASTINATION were interchanged, also the third and fourth letters, the fifth and sixth etc.  Print the letter that would then be the twelfth letter counting from the right.

(a) T 

 (b) I

   (c) A

   (d) O

   (e) C 

Q5.
In which number system would 1234 represent the decimal number 194?

(a) Base - 7    (b) Base - 8    (c) Base - 5    (d) Base - 6   (e) Base – 9

Q6.
What is the largest prime number that can be stored in an 9-bit word computer?

(a) 509                    (b) 511              (c) 519              (d) 409            (e) 479

Q7.
If n = 10 x 18 x 38, which of the following is NOT an integer?


(a)
n / 190

(b)
n / 76

(c)
n / 90


(d)
n / 78
(e)
n / 20

Q8.
Which of the following is a power of 5?


a.
3625  

b.
3575

c.
3225


d.
3525

e.
3125 

Pick the odd one out

Q9.
(a)
UNIX


(b)
WINDOWS NT
(c)
DB2


(d)
MVS


(e)        LINUX

Q10.
(a)
SMTP


(b)
HTTP


(c)
WAP


(d)
ARP


(e)        SAP


Q11.
The three numbers in brackets represent the angles of a triangle. Which of these does not represent a proper triangle?

(a)
(50º,51º,79º)
(b)
(60º,90º,30º)
(c) 
(73º,67º,40º)  

(d) 
(80º,60º,20º) (e) 
(60º,54º,66º) 

Q12.
The three numbers in brackets in each of the following options represents the number of edges, the number of faces and the number of vertices respectively. Find out which of these represents a solid planar cube?

 (a)  (8,8,6)
 (b)  (8,6,4)     (c)  (12,6,8)  (d)  (6,6,6)   (e)  (4,6,8)

Q13.
Which set of data exhibits a higher Standard Deviation?


(a)
-9, -9, -9, -9, -9, -9
(b)
9, -9, 9, -9, 9, -9   (c)
9, 0, -9, 9, 0, -9

(d)
9, 9, 9, 9, 9, 9

(e)
9, 9, 9, 0, 9, 9


The three circles below represent the number of students passing in Physics, Math and English.  Answer the next three questions based on the diagram
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Q14.
How many more (or less) students passed in Physics than students who passed in English?


(a) 1
(b) 2
(c)3
(d)4
(e)5

Q15.
What percentage of students is passing in Math also pass in English but not in Physics.


(a)16
(b)15
(c)14
(d)19
(e) 17.4

Q16.  What percentage of total passed in all three subjects.

(a)5
(b)4
(c)8
(d) 6
(e)9

The figure on the left represents number of distributors for a Company and the figure on the right depicts region-wise distribution for 1998
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Distributors (in "00s
Q17.
Which year has registered the maximum percentage growth in distributors?

(a) 1998
(b) 1994
(c) 1996
(d) 1686
(e) 1888

Q18.
What is the average number of distributors for 1995-1999?

(a) 7700
(b) 6800
(c) 4800
(d) 8800
(e) 7800

Q19.
If 10% of distributors in 1998 left the Company, how many fresh distributors were made in 1999?


(a) 4500
(b) 4600
(c) 4700
(d) 4400
(e) 4900

Q20.
A hypothetical physical quantity is defined as


           (Energy X Velocity)  

                       (Mass X Acceleration)


In what fundamental units would this quantity be expressed?


(a)Time
(b) Distance
(c) Velocity
(d) Mass
(e) None

Q21.
A alone can finish a work in 10 days and B alone can do it in 15 days. If they work together and finish it, then out of total wages of Rs.225, the amount (in rupees) that A will get, is :


(a)175
(b)135
(c)200
(d)250
(e)145

Q22.
Which of these matrices is singular?
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12     3

    2      3
         4     0
   
15     25


  A =

      B =

          C =

  D = 



 9      2

   -4      6
         0     4

3       5


(a)A
(b)B
(c)C
(d)D
(e) None

Q23.
Match the following relationships:


(i)
Female – Girl


(1)
Not a type of


(ii)
Oven – Building

(2)
Part of


(iii)
Square – Polygon

(3) 
A type of


(iv)
Word – Sentence

(4)
Superset of


(a) i-3,ii-1,iii-4,iv-2
(b) i-4,ii-1,iii-3,iv-2
(c)i-4,ii-1,iii-2,iv-3


(d) i-3,ii-2,iii-1,iv-4
(e) i-1,ii-4,iii-3,iv-2

Q24.
If * stands for squaring and > stands for change of sign what is the value of 

*  > * (4)  -  > * > (4)?

(a)260
(b)268
(c) 270
(d)272
(e)278

Q25.
A sequence is defined recursively as



f(0) = f(1) = 1



f(n) = f(n-1) + f(n-2).
What will be the value of f(6)?

(a)15
(b)11
(c)12
(d)13
(e)17

Q26.
What curve best suits the following data:

	X
	Y

	0.99
	0.00001

	10.04
	1.02

	99.98
	1.997

	1000
	3.0

	9990
	4.004



(a) y = logn x
(b) y = log10 x  (c) y = ex   (d) y = -log10 x  (e) y = - ex
Q27.
A Two-dimensional array X(7,9) is stored linearly row-wise in a computer's memory. Each element requires 8  bytes for storage of the value. If the first byte address of X(1,1) is  3000, what would be the last byte address of X(2,3)?

(a)3125
(b)3455
(c)3095
(d)3654
(e)3126

Q28.
Of the four straight lines A, B, C, D find out which pair forms an orthogonal set

 
A: 5x+4y-7 = 0, B: x+y = 0 ,  C: 5y-4x+5  = 0, D: y = 7x+3


(a)AC
(b)AD
(c)BC
(d)BD
(e)AB


Q29.
Evaluate the expression 

M(843,11) + R(3.4) + T(7.7) - R(5.8) where

M stands for Modulo arithmetic, R stands for Round-off operation and T stands for Truncation Operation

(a)8
(b)9
(c) 11
(d)12
(e)15

Q30.
Three independent mechanisms A,B and C have been incorporated for fuel saving in a car producing  respectively 30%, 40% and 10% efficiency. Assuming that they operate independently, what is the net fuel efficiency achieved?

(a) 61%
(b) 64%
(c) 68%
(d) 62.2%
(e) 54%

Q31.
The scores in class exams and final exam of 2 students are given as below:



Class exam

Final exam



3


1.2



3.5


1.45


Find the Final exam score of a student who has scored zero in the Class exam.


(a)  -0.3      (b) 0.1
      (c)  -0.1
 (d)  -0.2       (e) 0.5

Q32.
What equation best describes the curve shown below:

[image: image4.bmp]
(a)y = tan x
(b) y + 3 = x
(c)y + x = 0
(d) y = Cos x
(e) y = log10 x

Q33.
The temperature at Kochi is given by the function: -t2/6+4t+12 where t is the elapsed time since noon. What is the percentage rise (or fall) in temperature between 3.00 PM and 6.00 PM?


(a) 34%
(b) 39%
(c)37.9%
(d) 32%
(e) 21%

Q34.
An aircraft takes off from A (89o N Lat, 40o E Long) at 2.00 AM local time to B (32o N Lat, 40o W Long). If the flying time is 10 hours what is the local time of landing at B?


(a)5.40 AM
(b) 4.00 AM
(c) 6.40 AM
(d) 7.00AM
(e) 8.00AM 

Q35.
Fill in the last row of the following Truth Table:

	A
	0
	0
	0
	0
	1
	1
	1
	1

	B
	0
	0
	1
	1
	0
	0
	1
	1

	C
	0
	1
	0
	1
	0
	1
	0
	1

	(A (C ) ( B
	
	
	
	
	
	
	
	


Interpret the resulting bit pattern as an integer in an 8-bit computer and write the decimal value.



(a)56
(b)58
(c)52
(d)55
(e)54

Q36.
A file is transferred from one location to another in 'buckets'. The size of the bucket is 10 kilobytes. The bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt of the bucket the receiver sends an acknowledgement that reaches sender in 100 milliseconds. Assuming no error during transmission, write a formula to calculate the time taken in seconds to successfully complete the transfer of a file of size N kilobytes.


(a) 10.11 N
(b) 11.011 N
(c) 11.01 N
(d) 10.101 N
(e) 10.011 N 

Q37.
The productivity of a team of engineers is given by the function 

P(N) = 4000 √N, where N is the total strength. Find the percentage change in productivity if the strength of the team is increased by 1%.


(a) 0.75% 
(b) 0.25%
(c) 0.5%
(d) 1% 
(e) 2%

Q38.
A optical cable is to be run from a junction point on the bank of a river 900 meters wide to an office that is located 3000 meters downstream on the opposite bank. If the cost of laying cable under water is Rs. 5 per meter and that of laying overhead on land is Rs. 4 per meter, find the point downstream where the cable is to cut across the river.


(a) 450 
(b) 3900
(c) 2700
(d) 2100
(e) 1800

END OF  PART II

PART III

Read the following passages and answer questions under each passage

(1) An Airedale, a bower, a collie and a Doberman win the top four prizes in the Kennel Show. Their owners are Mr. Edwards, Mr. Foster, Mr. Grossman and Ms. Huntley, not necessarily in that order. Their dogs’ names are Jack, Kelly, Lad and Max, not necessarily in that order.

Mr. Grossman’s dog wins neither first nor second prize.

The collie wins first prize

Max wins second prize

The Airedale is Jack

Mr. Foster’s dog, the Doberman, wins fourth prize

Ms. Huntley’s dog is Kelly

1. First prize is won by

(A) Mr. Edwards dog

(B) Ms. Huntley’s dog

(C) Max

(D) Jack

(E) Lad

2. Mr. Grossman’s dog

(A) is the collie

(B) is the boxer

(C) is the Airedale

(D) wins second prize

(E) is Kelly

3. In which of the following statements are the dogs correctly listed in the descending order of their prizes?

I. Kelly; the Airedale; Mr. Edwards dog

II.The boxer; Mr. Grossman’s dog; Jack

I.  Mr. Edwards dog; the Airedale; Lad

(A) I only 

(B) II only 

(C) III only

(D) I and III only

(E) II and III only

4.Lad

(A) Is owned by Mr. Foster

(B) Is owned by Mr. Edwards

(C) is the boxer

(D) is the collie

(E) wins third prize

(2) All G’s are H’s

     All G’s are J’s or K’s

     All J’s and K’s are G’s

     All L’s are K’s

     All N’s are M’s 

     No M’s are G’s

1. If no P’s are K’s, which of the following must be true?

(A) All P’s are J’s

(B) No P is a G

(C) No P is an H

(D) If any P is an H it is a G 

(E) If any P is a G it is a J

2. Which of the following can be logically deduced form the conditions stated?

(A) No M’s are H’s

(B) No M’s that are not N’s are H’s

(C) No H’s are M’s

(D) Some M’s are H’s

(E) No N’s are G’s

3. Which of the following is inconsistent with on or more of the conditions?

(A) All H’s are G’s

(B) All H’s that are not G’s are M’s

(C) Some H’s are both M’s and G’s

(D) No M’s are H’s

(E) All M’s are H’s

4. The statement “ No L’s are J’s” is

I. logically deducible form the conditions stated

II. consistent with but not deducible from the conditions stated

III. deducible from the stated conditions together with the additional statement “ No J’s are K’s”

(A) I only 

(B) II only 

(C) III only

(D) II and III only

(E) Neither I, II nor III

(3) At a formal dinner for, the host and the hostess are seated at opposite end of a rectangular table, with 3 persons along each of the opposite sides. Each man must be seated next to atleast one woman and vice-versa.

Allan is opposite Diane who is not the hostess. George has a woman on his right and is opposite a woman.

Helga is at the hostess’ right, next to Frank. One person is seated between Belinda and Carol. 

1. Eric is the eight person present. Eric must be:

I. the host

II. seated to Diane’s right

III. seated opposite Carol

(A) I only

(B) III only 

(C) I and II only

(D) II and III only

(E) I, II and III 

2. If each person is placed directly opposite his or her spouse, which of the following pairs must be married?

(A) George and Helga
(B) Belinda and Frank
(C) Carol and Frank

(D) George and Belinda

(E) Eric and Helga

3. Which person cannot be seated next to a person of the same sex?

(A) Allan

(B) Belinda

(C) Carol

(D) Diane

(E) Eric


4. George is bothered by the cigarette smoke of his neighbor and exchanged seats with the person 4 places to his left. Which of the following must be true following the exchange?

I. No one is seated between two persons of the opposite sex.

II. One side of the table consists entirely of persons of the same sex

III. Either the host or the hostess has changed seats

(A) I only

(B) III only 

(C) I and II only

(D) II and III only

(E) Neither I, II nor III
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